
 

 

 

 

 

A message from Miss Bailey: 

Thank you so much to everyone who has been joining me in our learning so far and sending me pieces of 

work to look at – I love seeing what you are all getting up to. If you are not sure how to do this yourself, 

please message me about Class Dojo Portfolios.  

Every weekday I will continue to play TTRockstars between 9am and 10am on the Arena setting. If you 

ever have any worries, concerns or queries, please contact me via the Class Dojo site.

https://www.myon.co.uk/login/index.html


LIST OF KEY WEBSITES: 

https://www.oxfordowl.co.uk/
https://www.topmarks.co.uk/Flash.aspx?e=spelling-grammar01
https://www.sheppardsoftware.com/grammar/grammar_tutorial.htm
http://www.scootle.edu.au/ec/viewing/L1275/index.html
http://www.ictgames.com/mobilePage/spookySpellings/index.html
https://ttrockstars.com/
https://mathsframe.co.uk/en/resources/resource/383/Marlons-Magical-Maths-Mission-Multiplication
https://mathsframe.co.uk/en/resources/resource/383/Marlons-Magical-Maths-Mission-Multiplication
https://mathsframe.co.uk/en/resources/resource/306/Maths-Fishing-Multiplication
https://mathsframe.co.uk/en/resources/resource/399/Archery-Arithmetic-Multiplication
https://mathsframe.co.uk/en/resources/resource/399/Archery-Arithmetic-Multiplication
https://www.topmarks.co.uk/maths-games/hit-the-button
https://www.topmarks.co.uk/maths-games/daily10
https://www.teachingtime.co.uk/


ENGLISH 1 – BEGINNING OUR STORY (1) 



ENGLISH 2 – BEGINNING OUR STORY (2) 

 



ENGLISH 3 – THE BUILD UP 



ENGLISH 4 – THE ACTION 



ENGLISH 5 – THE ENDING 



MATHS 1 – DIVIDING BY 10 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Complete these divisions: 

A) 800 ÷ 10 =  

B) 3000 ÷ 10 =  

C) 40 ÷ 10 =  

D) 9 ÷ 10 =  

E) 150 ÷ 10 =  

F) 48 ÷ 10 = 

G) 3700 ÷ 10 =  

H) 99 ÷ 10 = 

Can work out what number was divided by 10 

to give these answers? 

A)                     ÷ 10 = 14 

 

B)                     ÷ 10 = 6.3 

 

C)                     ÷ 10 = 800 

 

The Gattengo chart shows the number 37 

 

Do you agree  

with Teddy? 

Explain why. 

 

Four children are in 
a race. The numbers 
on their vests are  
shown here. 

Can you work out 
which number 
matched which 
child using these 
clues? 

 



MATHS 2 – DIVIDING BY 100 and 1000 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Complete these divisions: 

A) 800 ÷ 100 =  

B) 3000 ÷ 100 =  

C) 90 ÷ 100 =  

D) 1400 ÷ 100 = 

E) 850 ÷ 100 =  

F) 49 ÷ 100 = 

G) 7000 ÷ 1000 =  

H) 6400 ÷ 1000 = 

Amir says, 

 

Do you agree with Amir? 

Explain why/why not. 

The Gattengo chart shows the number 37 

 

Explain how you would use the Gattengo chart 

to work out 37 ÷ 100.  

Play a game with your partner.  

Each player should roll two dice to make two 2-digit 
numbers. Each player should then divide both of 
their numbers by 100 and then add them together.  

Whoever gets the biggest number is the winner.  

 

0.36 + 0.63 = 0.99 



MATHS 3 – CAPCITY CONVERSIONS 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Convert these amounts into milliletres: 

A) 3 litres 

B) 8 litres 

C) 4.5 litres  

D) 0.7 litres 

Convert these amounts into litres: 

E) 3,000ml 

F) 6,200ml 

G) 14,000ml 

 

Experiment with capacity at home by investigating 
the following statement: 

 

Use different containers to decide whether this 
statement is true or false. 



MATHS 4 – WEIGHT CONVERSIONS 

 

                

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Convert these amounts into grams: 

A) 4000mg 

B) 1500mg 

C) 0.2kg 

D) 1.9kg 

Convert these amounts into kilograms: 

E) 700g 

F) 5700g 

 

An average weight for a large pack of sugar is £1kg. 
Weigh yourself and your family at home.  

Estimate your weight in bags of sugar.  



MATHS 5 – LENGTH CONVERSIONS 

 

Convert these amounts into mm: 

I) 7cm 

J) 13cm 

Convert these amounts into cm: 

K) 50mm 

L) 160mm 

M) 0.9m 

Convert these amounts into m: 

N) 200cm 

O) 0.4km 

 

  


